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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling

two or more circles will result in_zero mark in that question.
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12 2. Write short answers to any SIX (6) questions : o Y4 /‘“? L =iy (6).{:.43’( 2
(i) Express the 65% as fractions in lowest form. ey ﬁlﬁuﬁ‘f" L Tus /7 65% )

o u“/,,&f S B Z?unuz,u‘f S /f 82%1 (b
(i1) If 82% of the houses have a television, what percentage do not have?
e P20 ecm, 80 cm (i)
(iii) Find the ratio 20 cm, 80 cm in its lowest form.
HE P )
sl ne1300,000= 4841 (V)
(v) Calculate Zakat on silver amounting to Rs.300,000.

(iv) Define ushr.

S (v
w8 5 =B 11540 =xied B s jed (viD)
(vii) Find the SP, when CP = Rs.1540, Loss = 5%
W 12= 2 L858 =edjed LEted bt (ViiD)
(viii) Find the marked price, when SP = Rs.858 , Discount = 12%

(vi) Define loss.

(ix) Define ATM. Vsl /Lf;ﬁilé;! (ix)
12 3. Write short answers to any SIX (6) questions : .l AR ,‘"; L ety (6){4.31/ 3
(1) Define life insurance. -Ef.:( 7 /‘7 d/ u) I TN ¢))

b S UG T S 16% g &914,00,000 sdsdebl Gi)
(ii) The annual value of a flat is Rs.14,00,000. Find the tax payable at a rate of 16%.

(iii) Define direct tax. St e oSSerialy (il
(iv) Express in exponential form : 1814% SN JgF v G
(v) Evaluate : (32)° = (9*x277") 2’5/‘3 W)
(vi) Write in scientific notation 0.424. L uﬁff J515/0.424  (vi)
(vil) Write the first three terms of : a,=n+3 ol % AR ib)
(viil) If a,_5 =2n-12 find a, -’2::((’1’“‘ a, ¥$x a,_y =2n-12  (viii)
(ix) Find A.M. between 4 and 8. -Efl:(}”’ (AM.) bs3%unLl 8 14 (1)
12 4. Write short answers to any SIX (6) questions : @ 2 =AI2 2L 2y (6):3:.451( 4
(1) Define a function. Ay g (u"ﬁ W @

ek AxB In B={1,3} s A={2,3,4} /1 (D
() If A={2,3,4}andB= {1,3 }thenfind Ax B
ZEp# B—A o A-B In B=1{2,4,68)s A={27345 /1 (D
GiD) 1f A={2,3,4,5)andB= {2,4,6,8) thenfind A~ B and B~ 4
(iv) Draw the graph of y =5 -g..i!f(,y':S Giv)

I A P

( i



2
I EEOSLA1,0),B(1,8)58 ()4
4. (v) Draw the graph by plotting the points A(1,0),B(1,8)
(vi) Define origin. Ry Soar (VD)
] e 665,4,5,4,3,4,2,6 erloy (viD)
(vii) Foradataset6,2,4,3,4,5,4,5. Find the median.
&l K5 Sodr e gy Jler (viid)

(viil) Define range and write the formula to find range.

(ix) Find the geometric mean (G.M.) of 2, 4 and 8. -é(}” Lesld 26 854 2 (ix)
(PART I 552 ) i
Note : Attempt any THREE questions . -ZJ&W.’Z.@UV& c.df 07

FK18 2 S i ustil 1807 3000 sl Sp6,88 £KIS (D) 5
?ZU:/CPJ.&“ZL?(JJ}TJU}//? sk J.?ng6 :

5. (a) Juice manufacturer produces 3000 bottles in a day employing 15 workers
working 8 hours. Find the number of bottles manufactured when the
employs 18 workers working 6 hours.
NN B vp LI eI S1oadsf S50 400,000 Lef ()
-y (P borod -La?,;,j.é/
(b) Najeeb left a wealth amounting to Rs.4,00,000. He left behind a widow,
while they did not have any child. Find the share of Najeeb’s widow.
&5,10,00,000 A s M lee 22315 el KLU fE (D) .6
el S NSTE L Il
6. (a) The shares of three partners in a business are in the ratio 2 : 3 : 5. If they

suffered a loss of Rs.10,00,000 in the business, what was the share of
each individual in the loss incurred?

Bl et o 12% L LJfige 554000 ()
(b)  Find the compound profit on Rs.54000 for one year at 12% per annum.
Y osE K et 2016% S fiie 04000 =3 S VG (D) T
b SEK UKL 302152
7. (a) The price of a tricycle is Rs.4000. If 16% sales tax is charged, then
calculate the amount of sales tax on 30 such tricycles.

(b) Evaluate using logarithm table : Ztf LU.JJM;[.fZ K (&)
' ‘ 8492 x 3.72
47.82x52.24
4 5216 o« S bn6s 8RS AL SA3 A (D) 8

8. (a) Find three consecutive numbers in G.P, whose sum is 26 and product is 216.
sC=1{23,4,56} u B={1,3,5,7_},A={2,3,5,7,9}/'; (<)
(ANB)NC = AN (BNC) JE =t

(b) If A={23,579},B={1,3,57}andC={23,4,56}
then prove that ( verify) (ANB)NC =ANn(BNC)
9. (a) Draw the graph of : y=x-1 :Z;{Jij (h) .9
L E e e £1,2,3,4,6,8, 110 (&)
(b) Find the standard deviation for the values 1, 2,3, 4,6, 8, 11.
177-022-1-(Essay Type)-40000
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / = ii» kA
) : y 1-1
+ _ 3 3 c_.l{er Q/ug»/;z_’. 8.1
22 2\/5 \/_ 2\5 G.M. between | and § is :

. >4t <xFed =y el 2
VAT S - . @ . ) 31
None of these | =31/ =3 e =35 fed Profit is earned when :  : /] 1:‘_u?,u’J‘ Wl

SP > CP SP <CP SP=CP
Lodiis P y&? I :u,?gy/f,ﬁd/uf(”’/(ﬁéwu’r 3
Mantissa Rational -4~ | In the logarithm of a number, the.decimal
number Real part Charagtetitic part is called :
. ¢ - Sttt t—5 |4
Lottt bl bl Ll ot Ay : ‘:'-W/ X = 7 :
Weighted Arithmetic Geometri Harmonic — X+ Xy F———+Xx, .
mean mean mean 7‘\\ mean Xx=1""2 /3/\ n s called -
! / %
'3 - 3 " oM ’ > 5
OGS b1, oSSl s “‘jf{’ ukd‘é‘{ % bhc JLLU}: He? /w;i/wu
: . e tax charged on the owner : (1& < Ic
Induestias Pireet tax IR Fripeny tax/ of a land, house, flat or building is called :
. N aT AR
5.5% 4.5% 2.5% %% REHUALE
Zakat is deducted at a rate of :
A° U B° ANB AUB //Acmxc (AN B)°=? !
. % i1 |8
3% 33% /o/ 33;-% 7 in terms LUl
\Qf percentage is :
e y 9 7 it are v/ Poinbif 12 e s ) |0
. : Thevreturn earned by the bank on loan
Profit Bonus ' Premium Mark up i potstl e 4
1z 10 9 = e PG00 |
10 7 Fraction form of 70% is :
- - ; 11
JL/’ iy Wy /A.? n : Hed : i ” lr(!( ~ n
Base Radicand Exponent Radical 18"zl & ) wqf" o e
- 4 -4 v, x=?¢-£/y=2u: 2x—y=6 12
Fory=2in 2x~y =6, we have x=7 :
e Wagd 3,7, 11, - | B
20 23 19 3 ¥ 96 d3.7
ag of 3,7, 11, s :
. | - U e et Srzr § O g | 14
2773 77g P} 74 If there is one daughter and a agnatic Kl
grand daughter, their share are respectively :
R 7% R={(45),(54),(56),64 /1|
{3:83 EH31 P EES6) 1 Th 6 irR= (@), 5.4, 66164} eVt
then domain of R is :
178-022-11-(Objective Type)- 16250 (5264)
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12 2. Write short answers to any SIX (6) questions : o Az & L ey (6){:_6/ 2
oSt £820:50::8: x (D)
(i) Find the value of x in the proportion 20:50::8 : x
(i) If a:b=2:3, find the ratio 6a : 2b e 6a:2b Fa:b=2:35 (D)
-J)lﬂ({d}.{/jalul/ﬂ-é’:{r#’&:j@/u;unugﬂ 4,27 6 uﬁuut&.{! (ii1)
(iii) A family has 6 boys and 4 girls. Find the ratio of the number of boys to that of girls.
490,000 S S S S v Buss s+ S1 )
(iv) Calculate Ushr on a rice crop amounting to Rs 490,000 produced by artificial resources.
(v) What is meant by inheritance? Se e in (V)
Lt i Il 5016850 S h 06590 sl L1 (VDD
(vi) If atelevision is purchased for Rs.6590 and sold for Rs.6850, find the profit percentage.
53:5:3 edptur LBy ASRIE ST £ s33000 JiAsKLT (Vid)
(vi) Distribute Rs.33000 as a profit in a business regarding three persons. If their shares
are in the ratio 3 : 5 : 3. )
-é()”,wéé" WU =53 3850 ;,tl[l,g.ju:z.:_u 3450 S, L1 (viii)
(vii) A bicycle was purchased for Rs.3450 and sold for Rs.3850. Find profit percentage.
0L S LB, 1000 Lol Ll SE210%4) 1 (%)

(ix) If we invest Rs.1000 in a saving account at the rate of 10% profit per year, how much
would we have in one year?

12 3. Write short answers to any SIX (6) questions : ol =42 AL =y (6){::.(3[ 3

(i) What is meant by ATM? Ces e fidet D
(i1) What is meant by income tax? Ce il e u»&ﬁf/l (i)

b oSt U A 4.5% e s 3000004 T2 FUEU L Gid)
(iii) Total annual income of a person is Rs.430000. Workout the amount of tax @ 4.5%.

(iv) Express in exponential form : 3\/? :Z:(J,,«i uff Sied Gv)
(v) Simplify : X x y4 xx 2 x y_2 éf‘”" v)
(vi) Write 0.00018 in scientific notation. el (.3.' J5140.00018 (v
(vii) Write the first three terms of : a,=3n-5 :g(; WESE (vid)

(viil) Find AM. betweenx—1andx +7 -".L{(}”»sd‘fuyuﬁ x+7sx-1 (viiD
(ix) Find G.M. between 3 and 27. -’c":((y\’” boad Al 27 2913 (ix)
12 4. Write short answers to any SIX (6) questions : oL oAl /:" L ety (6)4;'4-6.{ 4
() Define set. oy Jfer O

A=1{9,10,11,12, 20}« U={1,2,3,--,20} 1k 4" (iD)
Gi) Find ACif U={1,2,3,--20},A={9,10,11,12,-,20}
A={-2,1, 838 8¢n0t A GiD
(iii)  Write two binary relationsin Aif A={-2,1,4}
(iv) Represent G (0, 7) on the graph. -é /:U:'{,_:'i/’f G (0,7) Gv)

( 2’&/) )
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4. (V) Write down the co-ordinates s ¢ 4 4}141,5 X //f -y Jw.)é ehs Lo (V)4
of a point lying above x-axis and on y-axis at a distance of 4 units.

(vi) Convert 97 °F into °C. J S °CS97°F (vi)
"(vii) Define median. s (viD)
(viii) Find mode if 6,2, 4,3,4,5,4,5 6,2,4,3,4,5,4,5 1ol (viii)
(ix) Find range if 10, 18, 9, 6, 22 10, 18,9, 6, 22 Sigk i er (ix)
, (PART -II (192 )
Note : Attempt any THREE questions . ozl atrf e e
4 ;G/QC.M’JJ(LK&-L//’/ 26% £2262% :.u*uf’ZalfJ..( M .5

5. (@ A hockey team won 62% of their matches and 26% of them were ended
in a draw. What is the percentage of the matches they lost?

ASE40 BL6F S 2 (PSS K 3000 FUigerudBissi (o)

4 252000 =FUsk

(b) Calculate the amount of ushr on a rice crop of weight 3000 kg
produced by artificial sources. If the price of 40 kg rice is Rs.2000

4 gl tpress 850 U4 U3 Sore e ss680 Fulilur foy” (D) 6

6. (a) At what annual rate of profit would a sum of Rs.680 will increase to
Rs.850 in 3 years and 4 months?

EiunZ S Sl w15 (KA S L 7,50,000 datmenak St (o)

4 5213 S eP Ut LB b oK L
(b) If Ali, Daniyal and Abdullah earned 15% profit against an investment
0f Rs.7,50,000. Find the profit of each if their shares are in ratio 2 : 3: 5.

CBekaie 51200 « USEF1400 PSS RGTSA LS (D) T

S Qif PN L et ess 45000 Fun U P10 S 1400423351500
7. (a) 1If gross pay of a person is Rs.45000, then calculate his net take home
salary, after deduction of Rs.400 as income tax, Rs.1200 as benevolent
fund, Rs.1500 as G.P fund and Rs.400 as group insurance.

£=150, g =32.16, 7=3.142 L= vin v= /g—‘] B Gh
9 : 7'[

(b) Ifv= —ig—e— then find the value of v when £ =150, g =32.16, #=3.142
\j V4

"J/l/f/u’;n d/,.u’d/ir@:; m;———— /l (h) .8

8. (a) Find the nth term of a G.P ifa—5=g and a2=g
; a3
inC=1{2,3,4,56} » B={1,3,57}.A={23,579}/1 (L)
(ANBYNC = AN (BNC) SZE et
() IfA={23,57,9},B={1,3,57}andC=1{2,3,4,5,6)
then prove that ( verify) (ANB)NC = AN (BNC)

9. (a) Draw the graph of : y=3x+5 2‘:{_)!/( M) .9
ér:l"‘b‘)l(}l)(ur" d/d;c_u(,(X A+ ,K (_—

184,191, 172, 168, 187, 189, 196, 186, 193, 195
D

n

(b) Find the arithmetic mean from the value using formula X = A4 + ==

184,191, 172, 168, 187, 189, 196, 186, 193, 195
178-022-11-(Essay Type)-65000



